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Abstract - The route and plan ofthe postal transport in city is the Wehicle Routing Problem, a classical optimizing

prablem. Because of the vehicles. weight and time, when the scale ofthe prohlem increase, the scale of the 3 arl
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computation is wery large, the traditional method can not solve it Inthis paper, referring to the Capacitated YWehicle

Routing Problem, using the Dividing Genetic Algaorithm and the Clark-wWright Algorithm as the primary model, the Floyed

Algarithm as the secondary. A HEFEEXSR more
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